## RESOLUTION OF THE PAPAGO TRIBAL COUNCIL (CHR contract - FY 1981 with Phoenix Service Unit)

RES. NO. 31-81

1	WHEREAS,	Congress has recognized the obligation of the United States to
2		respond to the strong expression for self-determination of the
3		Indian people by assuring maximum Indian participation in the
4		direction of educational and other federal services to Indian
5		communities in order to render such services more responsive
6		to the needs and desires of those communities; and
7	WHEREAS,	Congress has determined that prolonged federal domination of
8		Indian service programs has served to retard rather than to
9		enhance the progress of the Indian people and their communities
10		by depriving Indians of the full opportunity to develop leadership
11		through skills crucial to self-government, and that the prolonged
12		federal domination of Indian service programs has denied the Indian
13		people an effective voice in the planning and implementation of
14		programs for the benefit of Indians which are responsive to the
15		true needs of Indian communities; and
16	WHEREAS,	the development, construction, operation, provision, and maintenance
17		of adequate health facilities and services, including the training
18		of personnel for such work, and the planning, training, evaluation,
19		and other activities designed to improve the capacity of the tribal
20		organization to enter into a contract or contracts pursuant to the
21		Indian Self-Determination Act signifies the committment of the Indian
22		people toward the improvement of the health status of American Indians
23		and the delivery of health care services to the Indian people in
24		accordance with the purposes and policy of the Indian Self-Determina-
25		tion Act, 25 U.S.C. 450, et seg.; and
26	WHEREAS,	the Phoenix Service Unit Indian Health Advisory Board, Inc., is a
27		not-for-profit corporation composed of tribal representatives from
28		the Fort McDowell, Gila Bend, Gila River Districts 6 and 7, Payson
29		Tonto Apache, Salt River, Verde Valley Tribes, and Prescott Indian
30		Community, and is a tribal organization within the meaning of 25
31		U.S.C. 450 b. (c); and
32	WHEREAS,	the San Lucy District has an appointed representative on the Phoenix
		그는 것 같은 것 같

RES. NO. <u>31-81</u> (CHR Contract - FY 1981 with Phoenix Service Unit) Page Two

field in t	그는 것 같은 것 같은 것 같은 것 같이 있는 것 같은 것 같
1	Service Unit Indian Health Advisory Board, Inc.; and
2	WHEREAS, the Phoenix Service Unit Indian Health Advisory Board, Inc., was
3	established to advise the Phoenix Indian Medical Center on matters
4	relating to the delivery of health care to tribal members under
5	the Phoenix Service Unit jurisdiction; and
6	WHEREAS, the San Lucy District Council has heretofore approved the letting
7	and making of a community health representative contract between
8	the Phoenix Service Unit Indian Health Advisory Board and the Phoenix
9	Area Indian Health Service for fiscal year 1981, said contract is
10	effective as of October 1, 1980, and has requested the Papago Council
11	by this Resolution to formally memorialize such approval and to
12	ratify and confirm such approval;
13	NOW, THEREFORE, BE IT RESOLVED that the Papago Council hereby formally approves,
14	ratifies, and confirms the letting of the community health represent-
15	ative contract for fiscal year 1981 between the Phoenix Service Unit
16	Indian Health Advisory Board, Inc., and the Phoenix Area Health
17	Service, Department of Health, Education and Welfare, such approval
18	effective as to the date of the contract.
19	BE IT FURTHER RESOLVED that the Papago Council supports and approves the
20	efforts of the Phoenix Service Unit Indian Health Advisory Board,
21	Inc., an organization performing services benefiting more than one
22	Indian Tribe pursuant to the purposes and policies of the Indian
23	Self-Determination Act, whose work is committed toward Indian self-
24	determination and whose work has been supported by the appointment of
25	a representative from the San Lucy District Council to the Phoenix
26	Service Unit Indian Health Advisory Board.
27	The foregoing Resolution was duly enacted by the Papago Council on the 5th day of March, 1981, at a meeting at which a quorum was present with a vote
28	of <u>965.</u> for; <u>0</u> against; <u>0</u> not voting; and <u>0</u> absent, pursuant to the authority vested in the Papago Council by Section 2 (a) and (d) of
29	Article V of the Constitution and By-laws of the Papago Tribe of Arizona as amended, ratified by the Papago Tribe on December 12, 1936, and approved by
30	the Secretary of the Interior on January 6, 1937, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984). Said Resolution is not subject to
31	review by the Secretary of the Interior and is effective as of the date of its enactment by the Papago Council.
32	THE PAPAGO COUNCIL

RES. NO. 31-81 (CHR Contract - FY 1981 with Phoenix Service Unit) Page Three is Chairman Norris, Max  $\mathbf{5}$ ATTEST: Rose Johnson, Secretary 

lst Move Rosemary Lopez 2nd Move <u>Max Jose</u>

DATE: 3/5/81

## RESOLUTION CHR Contract - FY 1981

with Phoenix Service Unit

Resolution or Ordinance #

31-81

Districts	Representatives	No.of Votes	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI	1. Edward N. Kisto (Joann Garcia)	71.0	Х			
142	2. Kenneth Chico, Sr. (Franklin Antone)	71.0	Х			
CHUKUT KUK	1. Rosemary Lopez (Laurence Jose)	55.5	Х			
111	2. Harriet Toro (Henry Jose)	55.5	Х			
GU ACHI	l. Angelo J. Joaquin,Sr. (Joseph Pete Ramon)	50.5	Х			
101	2. Cipriano Manuel (Jonas Robles)	50.5	Х			
GU VO	1. Cross Antone (Juan Joe Cipriano)	25.5	Х			
51	2. William Lewis, Sr. (Pauline J. Lewis)	25.5	Х			
HICKIWAN	1. Henry A. Ramon (James Angea)	39.0	Х			
78	2. Edward Manuel (Archie Pilone)	39.0	Х			
PISINEMO	1. Lamando Francisco (Herman Lopez)	30.0	Х		98	
60	2. Jose Manuel, Jr.	30.0	Х			
SAN LUCY	1. Max P. Jose (Garfield Lenzo)	14.5	Х			
29	2. Albert Gomez ( )	14.5	Х	1.1		
SAN XAVIER	1. John B. Narcho (Simon Mamake)	41.5	X			
83	2. XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	41.5	Х			
SCHUK TOAK	1. Alex Juan (Francisco Jose, Jr.)	38.0	Χ.,			
76	2. Ramon Campillo, Jr. (Joann Francisco)	38.0	x			
SELLS	1. Andrew M. Patricio (Larry Garcia)	69.0	Х			
138 2. Fred Stevens (Jacob Escalante)		69.0	Х			
SIF OIDAK	1. Elliot Lewis (Eugene Jose)	48.0	X			
96			X			
TOTALS		965.0	965.	0	0	0